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Fourth Semester B.H. Degree Examination, iuly/August 2022
Additional Mathematics - 11Additional MathematiGs - lt
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c. Solve -d,Y* 2t1*!I.=.tl.

OR
Solve by the methqd bf variation of parameters, y" - ?y' + y = ex.logx.
Solve by the meflitrtl of undetermined coeflicients (D2 + l)y: sinx.

c. Solve # 4y =3* .
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Module-3,
Find the Laplace transform of cost x cos2t.cos3t. 

,,,.,,.,'r,,1,u,

Find the Laplacetransform of t3 sint. :.'"
OR

If (t) is a periodic tunction of period T > 0, thesprove that L{f(t)} = , +}e-"f1t;At .

; l-E -o

':il$to-:.: .,...0,. (07 Marks)

Find the Laplace transform of (t) = Esinffir-0,,t t . n/w having period ldW. (07 Marks)

I cost 0 < t < rc
I

Express f(t;={cos2t n<t< 2n"."i ,as a unit step function
I[cos3t t>2n

transform.
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and hence find its Laplace

(06 Marks)

(07 Marks)

using Laplace

(07 Marks)

(06 Marks)
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Find the LaPlace 6f -*;*-;j--.
(s.i'l)G+1)(s+2) .,,.,,. 

fi

Solve y''+2y",:#,!,.'2y=0 given y(0) =,"y'(0):0 and y"(0):6 by

transform.'1"'ll!..-,i'
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c. Find the inverse Laplad€.,tiansform of

jiiiilir,tlt :j
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b. Employ Laplace transforrnto dolve the equation $6i.+,'5y' .'6Y = 5e2', d6|: 2, y'(0) : 1,

(07 Marks)

b. Prove that
P(AuBvC) : P(A) + P(B) +,R(e).+ P(AnBnC)r P(AnB) - P(BnC) - P(CnA). (07 Marks)

c. A pair'ofllce is tossed twtelrf'.ifid the probability"bf scoring 7 points

i) Ohc.e' ii) atlesat o1rc: . 'lii) twice. . ,i"' (06 Marks)

.r,,, :.ii,i, OR-'-"t

10 a ':l'IfA and B are two,elefits having P(A) =;1'72, P(B) = ll3 and, P(AnB) = 1/4 compute----_::r'.r:i) p(A/B) iilp.@ryay iii) p(A/B). (07Marks)

b. Tkee machinosu'A, B and C p[o$,pco respectively 600/0, 30o/o, l0o/o of the total number of
items of l,F9tory.The percentpgplbf defective output of these machines are respectively
2Yo,3o/o and 4%. An item is selected at random and is found defective. Find the probability
that the item was produced by machine C. (07 Marks)

c. In a school 25o/o of the.stud€nts failed in frst language, 15% of the students failed in second

language and l0o/o of th&tudents failed in both. If a student is selected at random find the

'LD-T
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t:,,,,,,1,.1',, A{d.fl1ll;-s
ffi--

State and prove Bayes theorem.

probability that.
i) He failed"jffrst language if he had failed in the second language.

il) He failedih,second language if he had failed in the frst language.
iir) He fuildtlliri either of the two languages.
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Find: r,[ 3s + 2 -l 

.

l(s-2)(s+1)l


